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What will be the mean of 40, 45, 55, 43 , 52 and 597?

40, 45, 55, 43 , 52 3T 59 FT ATET AT FINT?

(A) 49

(B) 48

(C) 46

(D) 41
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What will be the mean of following data :

-5,-12,4,15,-7,0,18 and - 97

-5,-12,4,15,-7,0, 18 3 —9 T T FIT 7

(A) 0.9

(B) 0.8

(C) 0.4

(D) 0.5
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5 people were asked about the time in a week they spend in
doing social work in their community. They said 10, 17, 13, 20
and 15 hours, respectively. Find the mean (or average) time in a
week devoted by them for social work

5 AT | IT AT o6 A 19« GHETT | AT 14 XA § T qa7g
H FohadT T80T AT FXa gl Seaiqd #A: 10, 17, 13, 20 3T 15 =9
FgTl TTATrR 1A & (1T I7F g7 qH Y U GHTg § J1ET (IT
A)11 B)12 C)13 D)15 ( \>

—/‘ o
T\

https://t.me/mahendrasmissionssc




71911 SSC 2023 AN

CTion &
S gy ar ST

The mean of 25 numbers is 52. If each of the numbers 4 divided
by 4, then find the new mean?

25 FEITAT T ATET 52 g1 TT< TAF G AT H 4 § 9 faqr s an
HTET FTA hITor

(A) 12 (B) 15 (C) 13 (D) 5
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The mean of 150 items was found to be 45. If two itemhave

been wrongly written while calculating, i.e. 83 and 76 instead of
38 and 46, then find the correct mean.

150 | T ATET 45 YTH TAT ATI i< TUET HLd 0T <A T AT T

fore T 81 T S T 38 31T 46 & I 83 X 76 Y dgl |Ied ATd

(A) 43 (B) 44.5 (C) 44 (D) 43.5
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The age of the members of a weekend poker team has been
listed below. Find the median of the above set.

AT T ST & et Y Y A GHiag it 7% g ST
THFT H ATTETRT ATT HiorTl

{42, 40, 50, 60, 35, 58, 32}

A)40 B)42 C)50 D)58

https://t.me/mahendrasmissionssc




idigiar SSC 2023 AVNCHING)

The score of the students of a class has been listed below. Find
the median of the given set.

T FET & STAT T GhIL A At (6T 4T g1 7T 7T a7 =
HTTETHT ST hISTTN

{42, 40, 50, 60, 35, 58, 32}

A)40 B)42 C)50 D)58
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Find the range of given data.

few 7w 227 Fit F =T 19 HifSo

71911 SSC 2023 AN

13.1, 12.6, 11.3, 12.1, 17.9, 83.7, 35.2, 10.9

(A) 36.8 (B)41.5 (C)42.8

(D)34.8
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Find the range of first 10 prime number.

T 10 AHTST G&IT3N T TRET ST iUl
(A) 25 (B)27 (C)28 (D)29
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¥ TS T TgAF FIT I
What will be the mode of following data:
(A) 16 (B) 18 _(C) 14

(D) 19
NO OF

STUDENTS
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Find the mean value of following data (in approx.)-

eferd ST 1 9TeT 919 ST H STq hifore-
(A) 16 (B)18 (C) 14 (D) 19

AGE IN NO OF
YEARS STUDENTS

s 12

9 20
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Find the mean value of following data . ( \>
U)o

et 2T &1 J1eg 919 5119 A

SCORE INTERVAL |NO OF STUDENTS

o0 5
10-20

20-30 °
30-40
40-50 8
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The mean of 7,10,x,12,11 is 15, then what will be the mean
of x and (x+2)?

7,10,x,12,11 FT |TET 15 §, AT X 3T (X+2) T ATET AT FIT?
(A) 35 (B)36 (C)34 (D) 48
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Find the value of X'. If the median of given data [14, 17 21
(x+1), (x+2), 27, 28, 29] is [23.5]. [The given data is arranged
in ascending order.]

X' =T |19 374 hifora| Jie 3w T stieret & wrtegsnr [14, 17, 21,
(x+1), (x+2), 27, 28, 29], [23.5] &

[[RT T et T el 9 ¥ A eq 541 747 28]

(A) 24 (B)22 (C) 21 (D) 23
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If ‘p’ and ‘q’ be the mode and the median of the given data
respectively, Then what will be the value of (p+q)?%?

i< 'p' 3T 'q' T T SATwET F FHL: TgAh SN ATIETHT B, T (p+Q)>2
T {1 FIT T ?

10, 12, 14, 12, 8, 12, 10, 12, 13, 11, 12

(A)456 (B)576 (C)598 (D) 574
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If the standard deviation is 16 then the variance of the ta will
be?

I AT A= 16 & AT ST T T9L0T 47T T2

(A) 121 (B) 16 (C) 256 (D) 4
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Find the standard deviation if the variance of data is 9617

Fie ST FT T9LOT 961 g A7 A9+ fa=ar 1 Hhiforg ?

TNEX

(B) 61

(C) 961

(D) 91
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If X’ and ‘y’ be the mode and the median of the given data
respectively, Then what will be the value of (x+y)? ?

I 'x' T 'y' AT T ATFST F FAL: TgAH < AIFETFT g, a7 (X+Y)?
T H{TH FT T ?

57,9,7,3,7,5,7,8,6,7
(A) 149 (B)167 (C)196 (D) 169
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